
Calculus II

Curve Tracing

Trace theCurve
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symmetry: Curve isnot symmetricalabout

K-anis and y-axis
2 origin:curve passes through (0,0)

origin.
3. Intersed ofLive withaniss



curve intersectatonly one point

(0,0)

4. Brain:(-8,8)
5.

Asymptote:y =0 Parallel to n-axis
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for increasing.

O
1 - x= 0 (fromG]
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n< 1

- 1<n< 1

Gurve is increasing for (-1, 1)



for decreasing.

Illy Curve isdecreasing for
(-0, - 1)u(1,0)

2. Pointofinflexion

=0
2n(n2- 3) =0 [fromN]
x =0,x2 - 3 =0



x =0ix =153.

x =0,53, - 53.

de changes signs atn=0,53,-5.

:Pointofinflexion
atx=0,53,5

points ofinflexion are

30,0);(53,53(4); 1-53, -53(n)



Concave upwardto-

s (x2-3)70 (from]

x > 0 a < 0

42-3 >0 -2- 3 <0

223 x2<3

u> 53. x< 53

Concave upward for x 7 - 53.
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- 53



Illy concave downward for

( - 6, - 53)V(0,53)

8Maxima and Minima
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(1+k)(1 -x) =0

x =- 1, + 1



:tangentat x =1 and x= -1 are

Parallel to 3-anis.
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Maxima Pointis(1, Y2)
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Minima. is(-1,-72)

a 01-12 - 2

y 0 Yz - 42 0.4-0.4

y-asie tangentatorigin.
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